SASTRI COLLEGE
DEPARTMENT OF MATHEMATICS
GRADE 8
MID YEAR EXAMINATION 2018
Duration: 2hrs Marks: 120

INSTRUCTIONS:

* This exam comprises 7 pages and 9 questions.
® Calculators are NOT permitted.
® Show all working details

QUESTION ONE
Select the correct answer from the options given.

1.1

1.2

1.3

1.4

Complete the sequence: -8;-4;0; 4;
A 4
B. -8
C. 12
D. 8

; 12.

JEE——

An equilateral triangle has:

A. three sides unequal in length.

B. a right angle. :

C. three equal sides with each angle measuring 60°.
D. one obtuse angle

2x +2=10willbetrueif x=

A 4

B. 7

C. 6

D. -4

There are terms in the following expression:
2x+3)+x%+5

A 4

B. 3

C. 2

D. 1
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1.5 Complete the statement:
In any triangle, the is equal to the sum of the
squares of the other two sides.

A. isosceles, hypotenuse squared
B. right-angled, hypotenuse doubled
C. equilateral, hypotenuse squared
" D. right-angled, square of the hypotenuse

QUESTION TWO H
Simplify each of the following completely. Indicate ALL working.
21 5—-3—-6=

22 —2(10)+(G=+5 =

2.3 8%
V-8

24 \F/'sﬁ+ (-9 % 1)

QUESTION 3
Use PRIME FACTORIZATION to answer the following.

3.1 petermine the HCF AND LCM of 14 and 50.

32 729

QUESTION 4

4.1 ADD: 4.2. SUBTRACT:
2x% +5x+ 6 4y* —y +14
5x? ~7x+8 6y% — 4y + 2
x% +x

43 Giventa=2;b=—-3andc= _23 determine the value of:

A.3.1 abc

432 3a
b -
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QUESTION 5 [20]

>-1  Giventhe expression: —4a? —3a+5 + a3 — 24
5.1.1 Identify the constant.

G

5.1.2 What is the degree of the above expression? (1)

5.1.3  Write down the coefficient of g, (1)

5.1.4 Arrange the expression in descending powers of q. (2)

5.2  SIMPLIFY

521 2x°+2 = (2)

52.2 4pg X 2pg? = (3)

5.2.3 6a?bct (3)
—12abch

524 —(3x2y)3 ' - (3)

525 \16m® e T (4)
10m?8 + 2m?® |

QUESTION 6 : [10]

SOLVE FOR x IN EACH THAT FOLLOW.
6.1 —10x =100 (2)
6.2 2(x+4)=16+3x (3)
6.3 2*¥=4 ' (2)

6.4  Jody has doubie as much airtime as Maria. If they have R93 altogether, how (3)
much airtime does Jody have?
Use an equation to solve the word problem above.
(HINT: Let Maria = x)
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QUESTION 7
Study the pattern below and answer the set questions.

oS RS Vo
* * ol * ke
. SRS | ¢ " S—

7.1 How many stars would the next pattern have?
72  Provide the general rule for the pattern above.
7.3 Which pattern will have 14 stars?

7.4  How many stars will the 20" pattern have?

QUESTION 8
SOLVE FOR THE UNKNOWN ANGLES, PROVIDE REASONS AND SHOW ALL WORKING
8.1

3.2 A 5
2x
50°
B C
8.3
P

\1500
R

x
ﬁm
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8.4

8.5

8.6

8.7

3x +10°
x+50<
B C
1A3
2
y
14 70°
D
J
30°
1
CR— i M
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8.8

8.9

B
X 120°
2x
D
A
2
1
A 110°
D -~ >
AD//BC and AB//CD.
AD = AM

Calculate BAD

Piease turn over for Question 9
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QUESTION 9

8]
SOLVE FOR THE LENGTH OF THE UNKNOWN SIDE.
9.1
M

9.2

Total : 120
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